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Quiz Four: 401-500

Part One: Choose which answer is most similar in meaning to the word in bold.

1. momentum A. strength B. protection B. attitude
2. monopoly A. mentality B. confidence C. control
3. murkiness A. arousal B. obscurity C. mortar
4. nag A. accumulate B. reside C. indicate
5. negotiate A. believe B. agree C. relate
6. notwithstanding
A. under B. despite C. over
7. newfangled A. different B. heightened C. branchy
8. novelistic A. worldwide B. possessive C. new
9. notch A. selection B. indentation C. belief
10. obligation A. engagement B. objection C. duty
I1. onset A. beginning B. multiplying C. prospering
12. obnoxious A. objectionable B. preventative C. significant
13. morale A. plaster B. bricks C. confidence
14. nucleus A. selection B. source C. relation
15. nominate A. mention B. believe C. affect

Part Two: Choose which answer is opposite in meaning to the word in bold.
16.
17.
18.
19.
20.
21.
22.
23.

24.

obesity A.

mushroom
opt
objective
movingly
muster
nocturnal
optional

naked

fat

.well up

. choose

. subjective

. emotionally
. assemble

. nighttime

. alternative

bare

B

B.

B.

. overweight

diminish

disregard

. impersonal
. stirringly

. collect

. dawn

. mandatory

. clothed

C.

slim

. spring up

. favor

. neutral

. impersonally
. gather

. nightlike

. elective

. exposed

O Y U U U U O U O U U U

o

O U U U U U O U

o

. company
. liquid

. cement

. scold

. appear

. along with
. rapid

. marriage

. quality

. deviation
. advancing
. fatty

. charge

. ceremony

. select

. chubby

. spread out

. vote for

. unbiased

. feelingly

. immobilize

. noctivagant

. discretionary

. nude
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25. originate A. start B. initiate C. proceed D. terminate

26. outlaw A. bandit B. model citizen C. outcast D. fugitive

27. outdated A. old fashioned B. obsolete C. antiquated D. contemporary
28. neolithic A. modern B. prehistoric C. stone age D. ancient

29. optimism A. pessimism B. hopefulness C. confidence D. enthusiasm
30. passionate A. vehement B. indifferent C. impassioned D. enthusiastic

Part Three: Complete each sentence below with the most suitable word from the four answer choices.

31. A word may contain more than one , as in ‘antiestablishment’, where there are three morphemes.
A. morpheme B. molestations C. moisture D. mortars
32. The sociological perspective is crucial for working in today's and multinational business environment.
A. multiethnic B. mounted C. municipal D. mutated
33. Showing a, of character that has worldwide appeal, Lincoln, a Republican, was the first member of his
party to become president.
A. newfound B. nobility C. norm D. network
34. In the United States, there are few rivers through which ocean-liners can travel.
A. nationwide B. natal C. mystical D. navigable
35. As we use more and more water, the supply is rapidly being used up.
A. muzzle B. mystical C. nationwide D. natal
36. She mentions inner growth, a new sense of self and self-respect, a heightened sense of priorities, and a
independence as she assumed the bulk of responsibilities and decision making.
A. neurological B. normal C. newfound D. notional
37. In the decade before the Spanish arrived in Mexico, Aztec Emperor Montezuma II and his people were filled with a
sense of foreboding. A series of evil had foretold of calamities to come. A fiery comet crossed the sky. The
temple of Huitzilopochtli, the god of war, burst into flames. The Lake of Mexico boiled and rose, flooding into houses.
A. offensives B. omens C. optics D. oblongs
38. A person who engages in criminal behavior can be differentiated by the quality or quantity of his/her learning

through associations with those who define criminal activity favorable and the relative isolation from lawful social

A. norms B. networks C. neurons D. notions

39. Type 1I diabetes which is adult diabetes, is reduced by regular exercise because it improves the
regulation of blood glucose. A. offensive B. onset C. occurrence D.
optical

40. In 1936, Einstein calculated that an observer on Earth, given the correct line of sight, might see multiple images of
a single, distant object a cosmic illusion, so to speak.
A. occurred B. orbit C. organized D. optical
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41. 19th century astronomers made very careful observations of Mercury's parameters but could not
adequately explain them using Newtonian mechanics.

A. orbital B. organism C. ornament D. oratorical
42. The Earth was distorted into an shape before it gravitationally rebounded

A. nuptial B. oblong C. offensive D. ornamental
43. Due to the intense ultraviolet rays of the sun, the paint on the car oxidized, causing it to change to a
yellow.

A. owing B. pamphlet C. pale D. paradigm
44, In addition to its African possessions, Carthage held a number of on the Spanish mainland.

A. outposts B. outflows C. outreaches D. outcomes
45. Since saltwater fishes have blood with a lower concentration of salts than the surrounding seawater,
pressure tends to force water out of the body fluids and to raise the internal salt concentration.

A. outset B. osmotic C. outflows D. oscillate
46. Both villages show a similar level of in-marriage among women currently resident within the village, 67% for

Sakaltutan and 63% for Elbasi, indicating an approximate ratio of two women marrying and resident within their
village for every one who marries out.

A. mythological B. networking C. natal D. neurological
47. Winged males and female carpenter ants engage in a flight in late spring and early summer.
A. obstacle B. nuptial C. occurrence D. offensive
48. The names of all medicines you are currently taking, including both and prescription medication as well

as any dietary supplements. It is important for your doctor to know this information in order to prescribe the medicine that
will be the most helpful.
A. over-the-counter B. overriding C. overgrazing D. owing

49. A entitled A Dissertation on the Canon and the Feudal Law and town instructions denouncing the Stamp
Act (1765) marked him as a vigorous, patriotic penman, and, holding various local offices, he soon became a leader among
Massachusetts radicals.

A. paleoanthropologist ~ B. pamphlet C. parameter D. parasite

50. This is a reflection of strong sense of solidarity within the corporate peasant community, also apparent
in the tendency for almost every man to remain within his village over his lifetime.

A. oscillates B. outflows C. outcome D. outreached

Part Four: Complete each sentence using the correct word form.

51. Realizing that he could not wait for another Federal advance, Johnston began concentrating forces at Corinth,
Mississippi, where he hoped to take the and destroy General Grant's Army of the Tennessee before it could be
joined by General Don Carlos Buell's Army of the Ohio.

A. offensive B. offending C. offends D. offense

52. The hiker was with fear after seeing the mountain lion face to face.

A. painstaking B. parasite C. paralyzed D. passed
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53. Even department stores in some non-Christian countries are decorated with during the Christmas
season.
A. ornaments B. organisms C. outflows D. outweighs
54. Landslides area are a common in the Santa Cruz Mountains.
A. occur B. occurrence C. occurred D. occurring
55. A California man was charged with his daughters almost 50 years ago.
A. molestation B. molest C. molesting D. molested
56. There is a special critical initial strength such that the field cannot decide whether to evaporate away or collapse to
form a black hole. Instead it increasingly rapidly, performing an infinite number of oscillations in a finite time.
A. oscillation B. oscillating C. oscillates D. oscillate
57. The strength of a rain-cooled from the mountain storms is critical to downstream mesoscale convective
system development.
A. outflow B. outflowing C. outflowed D. outflows
58. The evolutionary selective advantages for language must have been very large to such a disadvantage.
A. outweighed B. outweigh C. outweighs D. outweighing
59. Some decry marriage as a sexist and institution that should be avoided at all costs.
A. patriarchs B. patriarchal C. patriarch D. patriarchally
60. Of 14 studies on the of firefighters, 11 found excess risk for brain cancer.

A. mortalize B. mortals C. mortality D. mortal


http://www.bettertoeflscores.com/

